o7t ExpA s 6 Aol A, Au]7}

ah,]]:]- 7}0 o]o o /\]_31.01

dA o) dutzt Fuy7t?

ZF
1=

o] 2

Al 7E



7l

)
AR

£ F8lRr ¥ kgt

S

o,

2o £ER AT 458 B

U7

an
4
370
<t 1 ©
[l
©
jeto}
.Wo =
370
9701 ]
N[O [
— el
Q@ ©
w £
S

E
30
113
120

D1
@ 2



o] L
L.

W7 7 A2

—m &, Aol 7

1

ZAR7F 7FAAL e B2 5

3.



] B 1
#3130l 2 kan

A # km Y7

2~0]O §
A rde s



A L.

=X

o o]

o

_
;01_

Fu 90
3017t AHg



ues 29 2 2 L7t HASUN

15- L
@ 7

3
15= L
o
16=- L
© ird

15— L
v
— L
7

@ 15



- . 2
e HE 2 3020 185 L o] Bo] -2t} o]

o]
=

A&

= 2 LYYz

oju
i

wjy

1
@93§L ® 280 L

2
46— L
= 3

® 560 L

186~ L
@ 3



8.

2 —
dol7t 25 cm @l A Hlo|ZE 1575 o] o=

)

et

Lemmoz s, o] A glomo] x| Zo| @
: ,

B -

4

A

rr

=]
T

1=
gL

em YUY 7F?

o



) 4
YA E 1mo] 100Y s5l= 12 =S 5mxh 1mef 160 Y 3=

AR 105 mARR T BE AohE 33 AR

1©

5 ER
(=1 i



Loz

5
12

=
K

1200cm? JYt}. 1

=
T

of ol

it
ol
Tor
<F
L]t
o]
T
T
ol
=
<
my
%. <|z
W TR
<|n w
B g
ﬂl ]
B
oz
ile)
o
ol TR
— o oT
o
B T
R

cm?



11.

FENA 1R 5

QA ol
L7} A7)

(=g
=%

B!
.__TL

&<l
=

o]—/\

Z
8

o 24
12

d



cm



13. o= =99 HolE FsH 2.

3
/,—910m~\\\
] L],
\
5cm
I
L1 1/




o

156 cm ©|
FA 2.

1
.
<)

ado]] 7]

=X

9] 7]

cm



2400 m? JUt}. T Fol A

L
T

Fgold] wrel ol

% m U7



